I 0 Rzut Ip.
hp=82 \;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\;\‘L‘f
A/19 e \:\:\:\:\:\:\:\:\:\:\:\‘igé SKALA 1:100
490 30 24331 s |A/15 317 amgEply
9474 ——— enEaEmmnE (0 O O 6 X R 7
 H=120 | H=283 _— H=220 “gEEEEREmENE R T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
\ 5 200 N e TN LI T LTI LTI T T T T T T T I T T I T T T I T T T I T T T TITITITITITTIH]
A S ——— —] ! i B B A *:*:*‘;1‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘L*:*:*
T - H=220 g N Ny :7:7:77\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\\zf:f:{
IS } oo o Bs = / S REENE R [ITTTIIIIITIIIIIITIIIIIITIIIIIIIIIII ]
S A/13 A19 | A/20 u mEuEnEnEnEng :::::::::f"\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\"i{::::::::
\ | T 17.30 48 4.46 7'76};[/? Eplplpipinin :::::::::::ff\\‘\“““‘“‘“““‘“““‘““““““‘\‘\‘\‘\‘\‘\ H 5
| N T = 2 [TTTTTIITTTITTN EpipipNe NN :::::::::::::77\\HHHHHHHHHHH pEgupEpEp ]
| 8L | : B 4N TITITTITTILILLIS e e R W e -
| | X egg/ & o B (208 18 | LTITITITLT ST o e |
| \ / : 7l [[TTTTTTT TN T :—:—:—:—:—:—:—:—:—:NHHH\HHH T [ e e e
= p— © N s I e O e B e B e B Il [TTTTTTTITTT] e e O e S e M e ‘ ‘ ‘ ‘ 7j ‘ ‘ ‘ ‘ ‘ \‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\\\\\\\\\\\\\\\\\\\\
L ‘ ” 6| T o® 60 8 o] N NEpE EpEpE A A LTI LT ESECECEEEe 7]V 717 SN 7]V 2 — 7 P LT . e [ B
N = Ay o > [TTTT TS A A A g 2 E A | A | ‘ i \ w 1/38
A18 if 2 LTI | hp=80 || hp=80 | hp=77 | hp=80 || hp=80 hp=80 (3 2 < ho=80 hp=80 hp=80 hp=140 hp=140 e
29.43 A/14 B‘I’/ ‘ ‘ [TIYITTITITIT] H 45 629 45 261 8 270 } 270 } 270 /a? 277 34 273 42 %ﬁg 348 30, 300 3 694 325 /1é/ 551 45 360 22.73 51
| &~ [ TT T INI T I T T TN - —
| - ] B T (T S—— S B
g, e = me hpsti2 Q) A2 -~ sl : = D 1IN B | 1/36 e
p=82 3 o ; LT e 152 | —p 3 % | 1/54 1/55 1/56 1/57 1/58 : | 764 b [132 1733 13.94
T } T 20.65 ‘7 sl 12420 1242 fedg| || 1254 [ 1140 1/59 =] 11| 427 26.76 H\ 1/37
H=327 - e |2 > ,52 9.29 MBIV H\ 22.85 u
32.14 I 25,60 hoet 12 o T 8 7 \N : 2 : = i
= ). ON 7 \/ I =] o
IV 3 s ;go% I H=327 P s @ / 12.03 52 w J/ | 1/62 ‘ | |
XN \ﬁ L T oTe e I=1 1/60 ol 1 Jso g 14.23 [yl
8s }e ik ( ( 7 % 28.54 \ \ e 161 z M - r—
» J IR s et | ) ot i —a— — T T =
R T ’HHHHHHHHHHH‘HHH AL AR LT AR AR L @ H/ 129 / / 25.95 1/43 \i 1/42 p=75 | . ‘
: L = i (198 a7 ) 1146 =157 B 26.19 % 45.04 140 | || [1/39 )
_ g (NRIBIRISRIBAIAL 7 : :
H=327 I SRINN H=207 || L] /51a — RN s 27| 12.28 a7l - . — 594 1| | 2518 %
: A1 IESreT . . A7 151 1 053 a— SO>S H=298 H=298 H-298 H-298 _ 144 H=298
4179 1462 : B 13.81 6.24 N 1/50 ¢ 357 He300 | | H=300 H=298
796 . 30 48 . .485.5 ‘50}/ 716 32.3 1347 2235 }1A6/58'5V \ 7723.1677 ] . I
S % \/ Iﬁ - dd /[/ h 1_53 45, 259 8, 272 8, 269 8 267 8, 281
- M_LUJ_LM_LM_LMJ_M_LUJ_LM_LM_LMJ_M_LUJ_LM_LMW 'p: 2 2 _ h=144 h=144
hp=85 =825 T L T L T T ey ML | e hp=83 hp=80 hp=80 hp=82 hp=80 hp=84 hp=84 hp=84 hp=80 b D
3 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ N I N A M CT T T I T T I T T TTIT]
R I I’ I 13 2 % I I A 0 O 0 ‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\
e R T N I WA /Il } A /Il A Al ~ — /ﬂ%% A%% /l%% /J A @l '}“‘\HHHHH}HH\HH‘\"““‘“‘w‘““““““““!““}
_——
B

Temat Inwentaryzacja budynku Nr. | z Administracjag Wegorzewo Dz. Nr.342/6
Rzut Ip. SKALA 1 : 100
AUTOR mgr inz. Edward Nr.rys.

Pawelec

DATA 2020 Marzec
Podpis 5




